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AT 3%31? (Indian History ) :

= ey adr i gear
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" Tarefidr Jfieieled & R av

TRl qUT I 3 JMieield FGICAT el

AT 3T ATHT HT HH 05

" HITARRT 3Eleld J2T 33T ISgalG &l 36T

v Tounl gurus aor fafeer $fPsar wee |, 1935

" YR OIS 3aide , 3G feeg WisT Jar aar s
gAY g S

31‘:"["?{ (Geography)
HRA vd faea & eifaes agemer
= AfeAr duT Afedr T arer
" ol HETE
*  g9d TEIsAr dur REee
" e AR e &
T
»  gias gare ([Rdvet aRa 7 )
R Td 99 &l Tofolfcieh 3qamel
Sterarg TUr AteH
TEH ST
FAAEINT IRadT JUT JarE
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AR rdezaear (Indian Economy ):
AR 7egaryr (1947 & 1991 d% )
" ST ITERT JUT YaNi DS
» AT srfcyarar w1 e Ash vd adeAew
SE]
= gRa wifd
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* gy fawE Td SRR wels

" SHT AR AT FUR
a¥ 1991 & 3f¥eh GUR TUT 38F a1g A 3dcgaedr
a¥ 2014 & 9T & MH GUR

" IEEd guR
[ ] W-g’:’w
= afde gur

= S0 wH0 €10

AR dfaea vd aF gH9HT (Indian
Constitution & Public Administration) :
" AR gy
*  HRA gfauE f ger [dvad
T F A -k Reuia
* Ao IWER T Haed

05. e 05
= g YUl A UF HEeMiad 962, Feg-ed
Teer
RS TR - Hatta ARy 3T e
EEIRRIEEH
TAAT feAhr T doT JamadT IS FEA
ATATTT fAATT (General Science):
06. v gRfFE Hifde e 05
»  gREHE WA G
»  gRFHE Sa &
mﬁ? Rarfora (Elementary Arithmetic):
quT e, e aur grAea
= gfdea
07. " HEROT 3RAfOT FHEEOT 05
» @ U9 e
" gidish Ud g1d
= 3Ea
AT fgwar (General Hindi)
=
= e g
* gREr oeg
08 " gl & o e oee 05
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= G -chehlieFaar
" A et
* @S R WA (5T TF 9ey)
09. AT 336 (General English): 05




" 3G ST
= 3ofdd aTeer W AR 9o

dF Ud dhATFd (Logic &Reasoning):

" T

*  FA ug e
" ey
10. R R TS 05
" HHE U AT H T HEA
= HRoT AR weE
» FIfSe-REfsa(EEr aur 3ER)
»  IHACHS® d%h /U fagersur ug Al
1 AARAAY (Current Affairs): 0510
" AR Ud AREw
AT SIPRh Al (General Awareness):
" ARA & USHT oXr
= e ST Ud Her
" R F UST YT Feq AT Joer
" AR G896 TSI, T 3R faure e,
faemer aRwe
" SO Ud HARSEE feaw
12. = 3 GIreA vd 3% HEATO 10
" ARA 9T ¥
= R B o O3 FER
"  HRd U9 3T & T
* iy gEds 3R dwh
* YR TE fasiar
*  Searg aRade Td gafERor
Iqfsa R arg@mer w1 fAdwsr va feawor
13. —OZWT 10
(9% W 05 99sT)
" ATH FT SATEAT TS AAYIT - 02 I 0
(9% 9T 05 g2e)
s arfeeT &Y suTEaT va faedvor - o2 aifasie "

(9% 9 05 gee)




